
-1-

ELOSIS 艾洛诗
SERVICE PARTS PAGE

维修零件图
MIRRORED CABINET

 镜柜
K-24658T

1354622-T8-A

1347165
15" Cabinet Assy.
15" 柜体组件

1064412
Hinge Kits
门铰

1056546
CLC Side 
Aluminum Plate
侧铝板

1098736
Glass Shelf
322.5mm 玻璃层板

1056549
Mounting Bar
280mm 承托条

Side Kits Brackets
侧镜支架

#8 X 3/8" Side Kits Screws
#8 X 3/8" 侧镜安装螺丝

#8 X 1 1/2" Phillips Head Screws
#8 X 1 1/2" 圆头螺钉

#8 X 2" Hex Head Slotted Screws 
#8 X 2" 六角螺丝

Wall Anchors
爆炸胶钉

Top Clips
顶扣

Snap-in Pins
嵌入式层板架

Hole Plugs
孔塞

Screw Caps
螺丝盖

Foam Tape
双面胶

1056547
Kits Hardware, Including Following Parts:
配件包，包含下列零件：

1347164
15" Door Assy.
15" 门体组件



1064412
Hinge Kits
门铰

1146581-0
20" Cabinet Assy.
20" 柜体组件

1056546
CLC Side 
Aluminum Plate
侧铝板

1098737
Glass Shelf
450mm 玻璃层板

1056549
Mounting Bar
280mm 承托条

1347166
20" Door Assy.
20" 门体组件

-2-

ELOSIS 艾洛诗
SERVICE PARTS PAGE

维修零件图
MIRRORED CABINET

 镜柜
K-24657T

1354622-T8-A

Side Kits Brackets
侧镜支架

#8 X 3/8" Side Kits Screws
#8 X 3/8" 侧镜安装螺丝

#8 X 1 1/2" Phillips Head Screws
#8 X 1 1/2" 圆头螺钉

#8 X 2" Hex Head Slotted Screws 
#8 X 2" 六角螺丝

Wall Anchors
爆炸胶钉

Top Clips
顶扣

Snap-in Pins
嵌入式层板架

Hole Plugs
孔塞

Screw Caps
螺丝盖

Foam Tape
双面胶

1056547
Kits Hardware, Including Following Parts:
配件包，包含下列零件：



1064412
Hinge Kits
门铰

1347169
25" Cabinet Assy.
25" 柜体组件

1056546
CLC Side 
Aluminum Plate
侧铝板

1098738
Glass Shelf
576.5mm 玻璃层板

1064413
Mounting Bar
533mm 承托条

1347167
10" Door Assy.
10" 门体组件

1347164
15" Door Assy.
15" 门体组件

-3-

ELOSIS 艾洛诗
SERVICE PARTS PAGE

维修零件图
MIRRORED CABINET

 镜柜
K-24656T

1354622-T8-A

Side Kits Brackets
侧镜支架

#8 X 3/8" Side Kits Screws
#8 X 3/8" 侧镜安装螺丝

#8 X 1 1/2" Phillips Head Screws
#8 X 1 1/2" 圆头螺钉

#8 X 2" Hex Head Slotted Screws 
#8 X 2" 六角螺丝

Wall Anchors
爆炸胶钉

Top Clips
顶扣

Snap-in Pins
嵌入式层板架

Hole Plugs
孔塞

Screw Caps
螺丝盖

Foam Tape
双面胶

1056547
Kits Hardware, Including Following Parts:
配件包，包含下列零件：



1064412
Hinge Kits
门铰

1347172
30" Cabinet Assy.
30" 柜体组件

1056546
CLC Side 
Aluminum Plate
侧铝板

1098739
Glass Shelf
704mm 玻璃层板

1064414
Mounting Bar
660mm 承托条

1347167
10" Door Assy.
10" 门体组件

1347166
20" Door Assy.
20" 门体组件

-4-

ELOSIS 艾洛诗
SERVICE PARTS PAGE

维修零件图
MIRRORED CABINET

 镜柜
K-24655T

1354622-T8-A

Side Kits Brackets
侧镜支架

#8 X 3/8" Side Kits Screws
#8 X 3/8" 侧镜安装螺丝

#8 X 1 1/2" Phillips Head Screws
#8 X 1 1/2" 圆头螺钉

#8 X 2" Hex Head Slotted Screws 
#8 X 2" 六角螺丝

Wall Anchors
爆炸胶钉

Top Clips
顶扣

Snap-in Pins
嵌入式层板架

Hole Plugs
孔塞

Screw Caps
螺丝盖

Foam Tape
双面胶

1056547
Kits Hardware, Including Following Parts:
配件包，包含下列零件：



-5-

ELOSIS 艾洛诗
SERVICE PARTS PAGE

维修零件图
MIRRORED CABINET

 镜柜
K-24654T

1354622-T8-A

Side Kits Brackets
侧镜支架

#8 X 3/8" Side Kits Screws
#8 X 3/8" 侧镜安装螺丝

#8 X 1 1/2" Phillips Head Screws
#8 X 1 1/2" 圆头螺钉

#8 X 2" Hex Head Slotted Screws 
#8 X 2" 六角螺丝

Wall Anchors
爆炸胶钉

Top Clips
顶扣

Snap-in Pins
嵌入式层板架

Hole Plugs
孔塞

Screw Caps
螺丝盖

Foam Tape
双面胶

1056547
Kits Hardware, Including Following Parts:
配件包，包含下列零件：

1064412
Hinge Kits
门铰

1347173
35" Cabinet Assy.
35" 柜体组件

1056546
CLC Side 
Aluminum Plate
侧铝板

1142892
Glass Shelf
832mm 玻璃层板

1142893
Mounting Bar
787mm 承托条

1354641
15" Door Assy.
15" 门体组件

1347166
20" Door Assy.
20" 门体组件


